MAF:.

Produktoversikt

Betong-
pannor

Lertegel-
pannor Fals

2024-07-30

TRP

Rev G

Plegel

91367

Concrete Tile Bracket

Ett faste for panntak som
monteras pa lakten med 2x
9840. Passar endast betong-
pannor.

3
al
- N

91267

Roof Tile Bracket

Ett faste for panntak som
monteras pa lakten med 2x
9840. For bade betong- och
lertegel-pannor.

]
"3

S

912741

Roof Tile Heavy Top

Ett faste for panntak som
monteras pa raspont
tillsammans med 912742, 2x
9834 och 2x 9839.

912742

Roof Tile Heavy Bot

Ett faste for panntak som
monteras pa raspont
tillsammans med 912741, 4x
9834 och 4x 9839.

91255

Seam Bracket

Ett faste for bade dubbel- och
klickfals.

91331X

Solar Rail

Skena i olika langder for alla
tak-typer. 2475 mm eller
3600 mm.

912314

Joint Kit for Solar Rail (20 pcs)

U-profil och platta som
skarvar ihop Solar Rail. 4x
9834 och 4x 9839 behovs
och séljs separat.

91252

Opticlick

Ett faste i plast for Solar
Edge-optimerare for Solar
Rail. Inget verktyg behovs.

91250

End Cap

Ett svart andskydd for Solar
Rail.

NANANNEANANANAN

NANANIN
NANANININ

9837

EPDM 40 x 2 mm L=10 meter

En vattentatande EPDM som
klistras pa under Solar Rail.

9850

EPDM SQUARE 40 x 40 x 2 mm
(500 pcs) L=20 meter

Fardigskurna EPDM-bitar pa
rulle som klistras pa Solar
Rail.

91292

Plegel Spacer

En plast-kil som justerar for
vinkeln pa Plegel-tak.

91230

Multi Clamp

En kombinerad and- och
mittklamma for moduler med
hojd 28-45mm. HEX 8.

9834

Flange Bolt M8x20

En unik M8-bult som
anvands tillsammans med
9839. HEX 8.

9839

Speed Clip

En unik klammutter som inte
behover verktyg och anvands
med 9834.

NANAN

9840
9854

Fastener for Tile roof 4.8x32
HEX A2 (300 pcs/ 50 pcs)

Traskruv HEX 8.

9845

Fastener for Steel roof 6.3x19
HEX (300 pcs)

Platskruv till Solar Rail. HEX
8.

9853

Fastener Kit

Universiellt fastelement for
att fasta produkter pa Solar
Rail.

9856

Torque control 8 Nm

Monteringshylsa for Multi
Clamp, stannar vid 8 Nm.

9851

HEX Locker 8 mm (2 pcs)

En monteringshylsa for alla
fastelement.

ACHCRICK
L KKISIKS

WK

Scanna QR-koden for mer information
och kontaktuppgifter.




MAF:

2024-07-30

Product summary

Concrete
tiles Clay tiles

Seam TRP Plegel

91367

Concrete Tile Bracket

Tile bracket to be mounted
onto the batten (lakt). Only
for concrete sinus-shaped
tiles.

91267

Roof Tile Bracket

Tile bracket to be mounted
onto the batten (lakt). For
both concrete and clay tiles.

N

912741

Roof Tile Heavy Top

Tile bracket to be mounted
onto the boarded subroof
(rdspont). Used with 912742,
9834 and 9839.

912742

Roof Tile Heavy Bot

Tile bracket to be mounted
onto the boarded subroof
(rdspont). Used with 912741
and 9840.

91255

Seam Bracket

A premounted bracket for
standing seam roofs.

91331X

Solar Rail

Rail in different lengths for all
roof types. 2475 mm or 3600
mm.

912314

Joint Kit for Solar Rail (20 pcs)

U-profile and plate to joint
together Solar Rail. 4x 9834
and 9839 are needed and are
sold separately.

91252

Opticlick

Snap-on holder in plastic for
SolarEdge optimizers to the
Solar Rail.

91250

End Cap

Black End Cap for the Solar
Rail.

KKK

CISIKK

NANANININ
NN

9837

EPDM 40 x 2 mm L=10 meter

Water sealing EPDM to put
on the Solar Rail.

9850

EPDM SQUARE 40 x 40 x 2mm
(500 pcs) L=20 meter

Pre cutted EPDM pieces on a
roll for Solar Rail.

91292

Plegel Spacer

A plastic spacer for Plegel
roof to adjust for the angle.

91230

Multi Clamp

Combined end and middle
clamp for modules with a
hight of 28-45mm. HEX 8.

NN

9834

Flange Bolt M8x20

Special M8 bolt. To be used
with 9839 Speed Clip on tile
roof. HEX 8.

9839

Speed Clip

Special M8 nut that needs no
tool to be fastened. To be
used with 9834 Flange Bolt

QS

9840

Fastener for Tile roof 4.8x32
HEX A2 (300 pcs)

Fastener for tile roof. HEX 8.

9845

Fastener for Steel roof 6.3x19
HEX (300 pcs)

Fastener for Solar Rail on
TRP and Plegel roof. HEX 8.

9853

Fastener Kit

Universal fastener for
attaching products to the
Solar Rail.

9856

Torque Control 8 Nm

Mounting socket for Multi
Clamp, stops at 8 Nm.

9851

HEX Locker 8 mm (2 pcs)

One mounting socket for all
fasteners.

LR
KRR

<K
QKK

Scan the QR-code for more
information and contacts.




